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 �����1  

 ���!�"�� !!"��� ����# %�$"$�������� ��&���� ��'()�  
 *��+ ,- .!/ ��!!"$ ��#�
( �GHz 17  

0�
��� 
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��!!"��� 1�- 
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 �������ITU-R 

 ��2�2�� ,-F  
����3�� 4& 5�6�	�� 

(MHz) 

0,4 0,430-0,4061 

0,450-0,41305  
1567 vC/�� B1 

1567 vC/�� B1 

0,05 T0,1 T0,15 T0,2 T0,25 T
0,6 T0,25 T0,3 T0,5 T0,6 T
0,75 T1 T1,75 T3,5 

1,4 1,53-1,35  1242 0,25 T0,5 T1 T2 T3,5 

2 2,69-1,427 

2,1-1,7 T2,3-1,9 

2,3-1,7 

2,3-1,9 

2,3-1,9 

2,3-1,9 

2,5-2,3 

2,67-2,29 

 

 

2,7-2,5 

701 

382 

283 

1098 

1098 ��7C/�� B1	 2 

1098 vC/�� B3 

746 vC/�� B1 

1243 

 

 

283 

0,5) y%G( 
29 

14 

3,5 T2,5) ��%%G( 
14 

10 

1 T2 T4 T14 T28 

0,25 T0,5 T1 T1,75T 
2 T3,5 T7 T14 

2,5) y%G( 
14 

3,6 3,8-3,4 

3,8-3,4 

1488 vC/�� B1 

1488 vC/�� B2 

(1)
25 

(2)
0,25 

4 4,2-3,8 

4,2-3,7 

4,2-3,6 

4,2-3,6 

382 

382vC/�� B  1 

635 

635 vC/�� B1 

29 

28 

10) y%G( 
90 T80 T60 T40 T30 

5 5,0-4,4 

5,0-4,4 

5,0-4,4 

4,9-4,54 

746 vC/�� B2 

1099 

1099 vC/�� B1 

1099 vC/�� B2 

28 

10) y%G( 
40 T60 T80 

40 T20 

L6 6,425-5,925 

6,425-5,85 

6,425-5,925 

383 

383 vC/�� B1 

383 vC/�� B1 

29,65 

90 T60 

40 

U6 7,11-6,425 

7,11-6,425 

384 

384 vC/�� B1 

40 T30 T20 B10 

80 
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 �����1 )����(  

0�
��� 

(GHz) 

��!!"��� 1�- 

(GHz) 

 �������ITU-R 

 ��2�2�� ,-F  
����3�� 4& 5�6�	�� 

(MHz) 

7 7,55-7,25 

7,725-7,425 

7,725-7,425 

7,75-7,435 

7,75-7,11 

385 vC/�� B5 

385 

385 vC/�� B1 

385 vC/�� B2 

385 vC/�� B3 

3,5 

7 

28 

5 

28 

8 8,5-8,2 

8,275-7,725 

8,275-7,725 

8,5-8,275 

8,4-7,9 

386 

386 vC/�� B1 

386 vC/�� B2 

386 vC/�� B3 

386 vC/�� B4 

11,662 

29,65 

40,74 

14 T7 

28 

10 10,68-10,0 

10,65-10,15 

10,65-10,15 

10,68-10,3 

10,68-10,5 

10,68-10,55 

746 vC/�� B3 

1568 vC/�� B1 

1568 vC/�� B2 

746 vC/�� B3 

747 vC/�� B1 

747 vC/�� B2 

3,5 B7 B14 B28 B)��%%G( 
(1)
28 

(1)
30 

5; 2 

7 T3,5) ��%%G( 
5 T2,5 T1,25) ��%%G( 

11 11,7-10,7 

11,7-10,7 

11,7-10,7 

11,7-10,7 

11,7-10,7 

387 

387 vC/�� B1 

387 vC/�� B3 

387 vC/�� B2 

387 vC/�� B4 

40 

67 

60 

80 

5 T10 T20 

12 12,5-11,7 

12,7-12,2 

746 vC/�� B4 D�7F�� B3 

746 vC/�� B4 D�7F�� B2 

19,18 

20) y%G( 
13 13,25-12,75 

13,25-12,75 

13,25-12,7 

497 

497 vC/�� B1 

746 vC/�� B4D�7F�� B 1 

28 T7 T3,5 

35 

25 T12,5 

14 14,5-14,25 

14,5-14,25 

746 vC/�� B5 

746 vC/�� B6 

28 T14 T7 T3,5 

7 B14 B28 

15 15,35-14,4 

15,35-14,5 

15,35-14,5 

636 

636 vC/�� B1 

636 vC/�� B2 

28 T14 T7 T3,5 

2,5) y%G( 
2,5 

(1)
 %� ��������� D�6- J�. 

(2)
 �
	4 ���� J�%� ��� ��w�� U��[� ���� D�w-. 
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 �����2 

 ���!�"�� !!"��� ����# %�$"$ ��'(7��&���� �-�8�  
 9�:$ ;�� ��!!"$ ��#�
( �<�6/ *��+ ,- GHz 17  

0�
��� 

(GHz) 

��!!"��� 1�- 

(GHz) 

 �������ITU-R 

 ��2�2�� ,-F  
����3�� 4& 5�6�	�� 

(MHz) 

18 19,7-17,7 

19,7-17,7 

19,7-17,7 

19,7-17,7 

19,7-17,7 

19,7-17,7 

19,7-17,7 

19,7-17,7 

19,16-18,58 

595 

595 vC/�� B1 

595B vC/�� 2 

595BvC/��  3 
595B vC/�� 4 

595B vC/�� 5 

595B vC/�� 6 

595B vC/�� 7 

595B vC/�� 7 

220 T110 T55 T27,5T 
60) D�6-( 
50 T40 T30 T20 T10 T5 T2,5 

7 T3,5 

27,5 T13,75 T7,5 T5 T2,5 T1,25 

7 T3,5 T1,75 

55 T110 

55 T27,5 T13,75T 
60 

23 23,6-21,2 

23,6-21,2 

23,6-21,2 

23,6-21,2 

23,6-21,2 

23,6-21,2 

23,6-22,0 

637 

637B vC/�� 1 

637B vC/�� 2 

637B vC/�� 3 

637B vC/�� 4 

637B vC/�� 5 

637B vC/�� 1 

3,5 T2,5) ��%%G( 
112 �" 3,5 

28 T3,5 

112 �" 3,5 

50 

112 �" 3,5 

 112 �"3,5 

27 25,25-24,25 

25,25-24,25 

27,5-25,25 

26,98-25,27 

26,5-24,5 

29,5-27,5 

29,5-27,5 

748 

748B vC/�� 3 

748 

748B vC/�� 3 

748B vC/�� 1 

748 

748B vC/�� 2 

3,5 T2,5) ��%%G( 
(1)
40 

3,5 T2,5) ��%%G(  
(1)
60 

112 �" 3,5 

3,5 T2,5) ��%%G( 
112 �" 3,5 

31 31,3-31,0 

31,3-31,0 

746B vC/�� 7 

746B vC/�� 8 

25 T50 

28 T14 T7 T3,5 

32 33,4-31,8 

33,4-31,8 

1520B vC/�� 1 

1520B vC/�� 2 

3,5 T7 T14 T28 T56 

(1)
56 

38 40,5-36,0 

37,0-36,0 

39,5-37,0 

39,48-38,6 

40,0-38,6 

40,5-39,5 

749 

749B vC/�� 2 

749B vC/�� 1 

749B vC/�� 2 

749B vC/�� 2 

749B vC/�� 3 

3,5 T2,5) ��%%G( 
112 �" 3,5 

140 T56 T28 T14 T7 T3,5 

(1)
60 

(1)
50 

112 �" 3,5 

52 52,6-51,4 1496B vC/�� 1 56 T28 T14 T7 T3,5 

57 57,0-55,78 

59,0-57,0 

1497B��  vC/1 

1497B vC/�� 2 

56 T28 T14 T7 T3,5 

100 T50 

(1)
 ������ D�6- J�%� ���.  

 �'+���1 = S/
�� M+�� X����� z6O� #�O�� B#��+l� ��"	 #�
	�:�� ��" M������� ������ ���:7� uO� f���� c�O� �4 A.@ 
��������� ����b� .�� ������ ���:E z��O�
� 46��� ��h A� A.@	�9�F� D�:7�� ? �������� J�%� z��O�
� D���" �� �
	�:�.  
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 �'+���2 = p������ n��O� n/�� XPD �$�7��� \�%7�
N�
 zpO�� n��O� A� S7��%�	 (XPI) n��O�/� #�7-	 S7��%�	 
 ��'���� ? ������ITU-R P.310.  

 �'+���3 =  n��O� ? �������� ������-N� ��� p������NFD:  

�   p������ ����<�
 +&}� NXPDBD�	�w��� ���:7/�   

�   v/O�� ���-	 T6�h	 ���j J�%:
 d&�6�/� ����� D6h�	 D�:E N" �����N� ? +&}� N��&�6���
 J�%:
 d�.l� �� 
 p����/� ���E ����<�
 +&}� ^	�p� ���jNFD �67
 d7� dB 3.  

 �'+���4 =��� ? ������ *+, �=�O� ���	  u��'�ITU-R F.1093	 ITU-R P.530 ��l��N�
 }�:��� v[��%
 u�7/O��� 
����%7�N�	.  

 �'+���5 = S�- d
�_� 5��� �, �/��<� ��j��� �6O�� 5��:�� �" )d�7��_� 	4( �/��h ��j�� ����!" B6h�	 �� ? B
S�F� M������� ������ p�9� �%
��
 #���E� �/.l� .�!�� *+, �6� �/��	 ���n)  ��h1 < n .( Mp8��� ������ ������ f�	

 �/��<� �������� �6O� ���<� y
���� S�4n�/��<� ��j��� �6O�� 5��:�� ?  . ? �/��<� ��j��� �6O�� 5��� d��l� 6:�	
O�� 5��:/� Mp8��� ������ �hphX f
�:�� A� ��.� 6E B#�7��� K[�E M������� ������ ���:7� f���� �" �/��<� ��j��� �6

U
�
b� f������ ? u��	�w�� u��:E y
��� ����.  

  

  

 �����1  

 ���	
� � ��
��
� ������
� ����
� ���	� �����MHz 2 500-2 300 

) z	6=�1( 
  

1   M������� ������ ���:E f���� �����./
��� ��
���� ������:7�� u
 D6���� V�
4 W/� *��4 D��8+��  ���
 �,�6E D�	�w���MHz 1Q����8 ��:���	 B:  

A.��  f
0

   �������� �%& ? UOj��� ������ �,(MHz)B  

  f
n

   J�%:�� A� U/F��� n1:�� ? D6h�	 M����� ���� D�:7� Mp8��� ������ �,(MHz)B  

  f’
n

   J�%:�� A� M�/O�� n1:�� ? D6h�	 M����� ���� D�:7� Mp8��� ������ �,(MHz)B  

[6:�������� �E�O��
 ���:7�� n/�2� ��p8��� �������� A� ��O��� A.@ +:  

  J�%:�� A� U/F��� n1:��:  fn  =  f0 – 87 + n  

  J�%:�� A� M�/O�� n1:��:  f’n  =  f
0
 + 7 + n  

��h:  

  1 = n 	4 2 	4 3 ...  	480.  

 d.l�� ? �+, Z���	2.  
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 d.l��2  

 ���!�"�� !!"��� ����# %�$"$ ��'(7�����> ��&�� ?+ �@�:� 9A$ 300��B$�C 5��#   
 0�
��� � 9�:$MHz 2 500-2 300  

0746-02

f0

  
  

2   UOj��� ������ ��.� �4 d3F�MHz 2 394 = f
0.  

3   n1:�� ? \���� ���:E ��P	 BM������� ������ J�%� UF1� 6h4 ? \�,+�� ���:E ��P ��.� �4 U��:�
��.�l�� D67� ? q�+8	 UF�� 	4 Q	� d�'�� S�/� 5�7� K�E M4 ? q�r	 B�&a.  

4   z	6=� u��3���:7�� ? �O��� K�E n/�2� \�%7�
N� D6C�� D�	�w��� ���:7�� u
 d3F�� d1F�� .  

  

 z	6=�3  
5��3�� �:�  !!"��� ����# 4& 9AB��

���!�"��  
(MHz) 

n 

 12 �6O���
 FDM 1   1 B2 B3 B4 B... 

 24 �6O���
 FDM 2  1 B3 B5 B7 B... 

 60 �6O���
 FDM 4  1 B5 B9 B13 B... 

 120 �6O���
 FDM 14  1 B15 B29 B43 B... 

 300 �6O���
 FDM 28  1 B29 B57 

 24 d�.l���
 PCM 2  1 B3 B5 B7 B... 

 30 d�.l���
 PCM 2  1 B3 B5 B7 B... 

 48 d�.l���
 PCM 4  1 B5 B9 B13 B... 

 60 d�.l���
 PCM 4  1 B5 B9 B13 B... 

 30 d�.l���
 (1)
PCM 1  1 B2 B3 B4 B... 

 60 d�.l���
 (1)
PCM 2  1 B3 B5 B7 B... 

(1)
  ����� ���	
 ��
�� ���	��)QAM-16���
 .( 

  
5   �%7� 6:� ��" Bz���� d��
 W/� B�
�/%� ��-��" M����� ���� ���:E ��.� ��6:� U��[� v��$ d&�� 	4 ��67�

 �N�1���) �$�7�� \�%7�
�
 p������ z��O�
�
(XPD) ( �,�6E ��O��	24 B��84 	4 ��F��, D�:E  ���� ���:E �-�� f/%��
	 B��-��" M�����U/� ��8 ���:7�� 5�E�4 ��.� �4 U��:�:  

  24  ��F��, D�:E:  2 = n 	4 4 	4 6 	4 8...   (80 ≥ n)  
  60  ��F��, D�:E:  3 = n 	4 7 	4 11 	4 15...   (79 ≥ n)  
  120  ��F��, D�:E:  8 = n 	4 22 	4 36 	4 50...   (78 ≥ n)  

������ ��	

MHz 15MHz 1
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  300  ������ ���	:  15 = n 
� 43 
� 71.  

6   ���
	 �����60��� ��� ������� ��	�� �� ������ ��!!"� #��$�� %"&�� 
� ������ ���	 :  

  2 = n 
� 4 
� 6 
� 8...    !
���60� ���	 �����  

  5 = n 
� 12 
� 19 
� 26...    !
���120������ ���	   

  8 = n 
� 22 
� 36 
� 50...    !
���300������ ���	   

����'$� ��!!"$� (���$)*� �"��$� +�,�
 . - /
�0$�� 12�3 45���� #6�
$�� #���$� �
7�� ��8 ��!!"$�� 9;� +�,� 
	
2�<$=� #���$� 
� �8�>�� ��>$?@� �@�A�,2>�� �
�B - �7��C� D���$� ��.  

 ������1 ����� ��� �	
 ��
� ��	�� ����� �� ����� ������� ����� ������ !�� �"�#��� �$��% &��'�� ��(�)* +�,�-. /�01* 23	4 . 

  

  

  

 �����2  

 ���	
� � ��
��
� ������
� ����
� ���	� �����MHz 5 000-4 400  

) �����1(  

  

;� EF� G�<��� - ���	� ��H?I J��!�"�� !!"$�� ����	 1��"� �<6 KL�=� �MHz 5 000-4 400 . MA 1��"$�� "���

10 
 N��8 ����	10 O� �P�� #� ��$� %N��� ����	 34 × 4 Mbit/s O� 
� kbit/s 139 368 × 1.  

 #�,>$�� Q<R S���
QAM-64T�
�=� U�;V ��H��� #�W>$3 .  

1  1��"� S���
 #,>�� - J��!�"�� !!"$�� ����	 3��� ��� X$�$��
 :  

U,��  f0  G�<��� EF$�� 
�B !!"$�� ��:  

  f0 = MHz 4 700%  

  fn   G�<��� ������ EF��� - �
A�
 J��!�� !!"� ����� JD�"=� !!"$��(MHz)%  

  f’n   G�<��� J����� EF��� - �
A�
 J��!�� !!"� ����� JD�"=� !!"$��(MHz)%  

;Y��A����$�� �	*���3 �P�B Z�� ��!"��� ������� ��D�"=� ��!!"$�� +[� :  

    G�<��� ������ EF���:     310 + 28 n fn  =  f0 –  

    G�<��� J����� EF���:       2 + 28 n f’n  =  f0 +  

\�A:  

  1 = n 
� 2 
� 3 
� 4 
� 5 
� 6 
� 7 
� 8 
� 9 
� 10.  
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 ���	�3  

��� 		���� 
���� 
���� ������ ���	�MHz 5 000-4 400  
 ���� 
������ �� ��� ��MHz 28  

0746-03

18

28 60

312

18

  
  

2   U� "6]� EF��� - N��^� ����	 ��_
 G�<��� ��F? 
A� - �!�5�� N��;�� ����	 ��_ +�,� +� �W2��
G�<���.  

3  � (�)�[3 S��� J��!�"�� !!"$�� ������ 1��"$�� �;� +� ����`SDH
 STM-1 (
�a kbit/s 155 520 (���$)�3 b�8
 %
�2)��� #�,>� ���"c.  

  

  

 �����3  

 ���	
� �������GHz 10,68-10,0  

) �����1(  

  

 ��d�$�� �
��ITU-R F.747 G�<��� - �P��
'$)@ J��!�"�� !!"$�� ����	 ��2��"� GHz 10,68-10,5 ��d�$�� �
�� ����3 %
ITU-R F.1568 �2��"� G�<��� - �P��
'$)@ J��!�� !!"� ��
� �GHz 10,3-10,15
 GHz 10,65-10,5 .
 b�8 ��

�� ��&�I�
 ���
3 ��2��"� ����!^� e�3 #��$��:  

1   ����� ���MHz 2 	
���� � GHz 10,68-10,5  

 9�
	 ������ G�<? f"�3 g��? �
B O� �<�? U� ��H?I �
L$=� �,��=� - G�<��� #��$��MHz 2 . ��2��"� #��$��

��7�	 ���
6 �� h"$>=� 
5��$��3 S��$� %�
L$=� �,��=� U� ���$'=� Kc��=� - ������� ���$R.  

2   ����� ���MHz 5 
�
���� � GHz 10,45-10,38� GHz 10,65-10,58  

 !
��� ����!�� ���	 �<)��3 (�)�i� +�	�<��� +�;� 
����� - #��$��120����� ���	  �) !
�$��3FDM ( 
�30���	� ���	  .
 9�
	 #F� l�B ������� 1��"� m2�
MHz 5.  

n� G�<��� +� O� 9�2$?@� o��GHz 10,45−10,38 "��$� pq  ��,�)*�� �$3�&�� ��H?r� 4��	^� -2.  

MHz 300MHz 300

MHz 4 700 = f0
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3  ����� ���  3,5 � 7�14 �28 MHz  	
���� �GHz 10,68-10,0 ��
��� ��� �� �������  

��$���;� #G�<���  ���	�
 ��?��D��� ����`� (�)�^ ����<�� -  ���$R ��p�>� G��?s3����!�� ����	 -���$R ����3 .  

 t�)� l�B ������� 1��"� m2n�
 ���
	 ���0�3 u?�0$� Q<RMHz 3,5  U� 
� ����;=� �
A���3 t����� ����	 !
v
 f"�3 �������
 ���0��� ���w (*67
 14
 28 MHz.  

 �5
�D� ����	 ������ ��2��"� "���
)N��8/�!�B( G�<��� - %GHz 10,3-10,15G�<��� �� �5
�D�  GHz 10,65-10,5 %
 G�<��� U� #�)I� yDz� - �5
�D� pq ����	 O� ����^�3GHz 10,15-10,0G�<��� U� l�BI� yDz� - %  

GHz 10,68-10,65 G�<��� �<)��� {�"��� -
 %GHz 10,5-10,3.  

 ������� +� |�}�� ~A*�
MHz 28 G�<��� - GHz 10,3-10,15 �� �5
�D� GHz 10,65-10,5  ��
� p3
� �� ��3�<$�
MHz 28 ��d�$�� - !����� ITU-R F.1568.  

  

  

 �����4  

 ���	
� �������GHz 13,25-11,7  

) �����1(  

  

 ��d�$�� �
��ITU-R F.497r� J��!�� !!"� ����	 ��2��"�  G�<��� - ������$��
 ���	"�� ��H?GHz 13,25-12,75 . ��

 G�<��� U� y�D5� |�}�� ����!^� e�3 #��$�� b�8GHz 13,25-11,7��� ��� ��&�I�
 :  

1   ����� ���MHz 25/12,5  

 �
��� �)�
 (���$)� J"� %��,�"�I� �
L$=� ���@��� -GHz 12,95-12,7� ���D��$�� (�)�i� |�)�)�  ��H?� ��;W$
 ��,���� ��/�$��)��2� ���D��� ��/�� .( U� ���
	 ������ O� |�2��q 
$� ��� ��H?I� 9;�100 O� km 500 �!�B +�,� 

 9�
	 #F�3 ����7� �<6 (���$)�3 t��A G�<? +

3 ��!!"� Q<R #��$�� ���B
 %9�w@� ��!�A�MHz 25 ������� T3 
�;� EF�3 ����3 �<6 #��$��
 K���$�� f�"qI #F��� )��B"� G"c %(�&=� #�2) l�B.(  

 +��D��$�� ������ �!
�$� �@�)�^ |�}�� "��$� �
=� �;� +��K2$� �?�5 G�<�3 / 
�A
 �?�5 G�<?(SSB) G�<�3 
� 
 K2$� �?�5(VSB)/ !!"$�� #�,>�(FM) . �pF��� �����=� Q� U� �!�B ��H?I� 9;� +�,�
) U�5 O� km 15 ( J;W�


�!
�$� (�2�$)� g��? . G�<��� �	�3 #��$��
)GHz 13,25-12,95 ( +[� ����� 9;� - U,�
 %������� 1��"$� |*��� |�<<R
����$� �*�,>�
 �$3�� �*�,>� - %��?��D��� �B�8� ��H?� ��;W� �� ���7"�� (���$)@� . �
� #� #��$�� +�3���� -


 !!"$��GHz 13,25-12,7�  ��2� J;�� #F��� U� �
��� u��3 (�)�^� �����!�$)� �*d

 ���D��$�� g��$�*MHz 25 
������� T3.  

2   ����� ���MHz 20  

 �
=� #��$�� %+�3����
 ��,�"�I� �
L$=� ���@��� -GHz 12,7-12,2 - �����C� ���<�=� (�)�^
 ���D��$�� (�)�i� 
o	��� u�? .���� 1��"� m2�
 ���
	 �
B�2� Q<R l�B ���MHz 20 . (�)�^� !
�$3 ����P��� ������� 9;� #��$��


FDM)  MA1 200���	  ( MA �C
�� #F� ���	� ���<�� ����<�� 
�Mbit/s 45 . ���
�� G�<��� �;� ����$�� T3 U�

����0$�� ���
��
 ��?
=�
 ����,�� ���
��
 ������$�� ���)�=�
 ��������.  
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3   	
����GHz 12,5−11,7  

 ���
	 �
B�2a ������� 1��"� "��<� +�MHz 19,18)  �
B�2=� �<6 - J��!�"�� !!"$�� ����	 y��$?�MHz 19,18 +� �W2�� 
����=� ����!^� T3 G���@�3 !
� ( G�<��� -GHz 12,5-11,7 ��B�8^� ��
�� ��5��$A� +�2���3 ;6s� +I ��$L�) 

 ��������(BSS)����$�� ��"��=� ���"�= |���
 ��� y�D5� 
� G�<��� �C �/�� ���  : ��=� ��!�"�� �=���� J��!^� "��=�
 �������� ��B�8^� ��
'�� Q�<'$��3) %E��51977 ((WARC BS-77) ��!�"�� �=���� J��!^� "��=�
 ) %E��51979 (

(WARC-79)�!^� "����� O
I� ��

��
  f�I� O� �2����3 �"�$�=� #������ ��
� ��
'$)� (�A ��!�"�� �=���� J�
 ��
=� �;� #��$�� ��� ��7�}��� ���
�� Q�<�
) %E��51985 ((WARC ORB-85) . �� ���� ��)��
�� p>�


 T���	^�1 
 3 #5� U� ����$�� ��)�)I� �7�F�� �� +�,� +� �W2�� ������� 1��"� +� O� T$�
�� T3 4)��$�� p���:  

�  T3 �
B�2=� �������� ��B�8^� ��
'�� �P��B K�$=� �
B�2=� u�? +�,� +� �W2�� ��
�0$=� ������� (MHz 19,18) 
� 
�����B�}� 
A�  

�  �;>� +�,� 
� �������� ��B�8^� ��
�� ��!!"� �� ������� ��D�"=� ��!!"$�� K2<�� +� �W2��� %�P�� ��+� J:  
    MHz  f = 11 708,3 + 19,18 n  
  
�  MHz  f = 11 717,89 + 19,18 n  

  \�A:  

    1 = n 
� 2 
� 3 ...  
�40�  

�   ��B�8^� ��
'�� �B/�=� ��!!"$�� 1��"� �� ��7*$� N��^�
 N��;�� ����	 T3 ��
B�2=� +�,� +� �W2��
��������.  

 G�<��� -GHz 12,5-11,7 ����� +�
�3 �"$�� % 
�A
 �?�5 G�<�3 #�,>$��3 ��,�)*�� �$3�&�� ��H?I� (���$)� #)"� �,�
(�2�$)@� ��<� U� !
B O� "&�� 
� 
A�
 #)"� �<)��3 ����d �B�8�
 ��?��D��� ����`� �
B 
A�
 +� - . ��!!"$��


�� +� �W2�� ����d
 ��?��D��� ��!"� ���`^ �C���$)� 15���� ������ O� p>� ��� ���`^� 9;C #�,>$�� G�<? D�"� #3�
��!"���.  

  

  

 �����5  

 ���	
� � ��
��
� ������
� ����
� ���	� �����GHz 14,5-14,25  

 ����� ���	!
� "# $�%�&
 '�(����#MHz 28/14  

) �����1(  

  

 ��)�)I� �
B�2=� %�
L$=� �,��=� - #��$��MHz 28/14 G�<��� - GHz 14,5-14,25
�$�  G�<��� 
�GHz 13 !����� 
 ��d�$�� -ITU-R F.497 ������� T3 ��
B�2a �pWd
 �<)�$� �P$�) ���	� ����	 
� ������ ��?��D��� ����	 p��$� 

 ���
	28
 14
 7
 MHz 3,5.  

 ��d�$�� S���ITU-R F.636 G�<��� - ������� ��}�=� ��2��"$�� GHz 15,35-14,4I� Q<'=� (���$)�3 % J;�� �)�)
G�<��� D�"� - ���$'=� ����!^� �P�"�� ��� ���$'=� !����� N���� - #6
�.  
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 �
B�2a ������� �)�)I� 1��"$��MHz 28��� ��� �� :  
  G�<��� ������ EF���:  MHz  fn  =  fr + 2 534 + 28 n  
  G�<��� J����� EF���:  MHz  f’n  =  fr + 2 674 + 28 n  

\�A:  
  fr :!!"���5"�   
  1 = n 
� 2 
� 3 
� 4.  

 #,>�� S���
4 \�A ��!!"$�� 1��"� MHz 11 701 = fr.  

 #,>��4  
 		���� ���� ! ����"�� ���	���� 		���� 
���� 
����GHz 14,5-14,25  

) +�#7�� +�..0��� 8�9MHz(  

0746-04

f
1

f
2

f
4

f
3

56

14 250

13

28

13

14 500

  
 ������1 �� ; <-�=� >�?@�� A�) B���  ���@'�� CD( EF3$0�� <-�=� >�?@�� A�)G �(�=1G 4 H#
��� H��
�,I� ���,�@% �J Mbit/s 34 8% 

 �K-#L +��@'�� �� M#
��%MHz 28 . FN O	P����� C�43�	��� ; H��
�,Q� �	
 C���@'�� C���K 0R�'� S�T�625 M�UV ���L- ����� ; G� W�?" 
 X* +��@'�� �Y3Z 8% E�
���7G MHz 3,5 ��V���� ; #��
�� [�	,\� �P�] [�	,^� ITU-R F.497)  C�-��_�IG III M0'��� ; 10.(  

  

 �����6  

 ���	
� � ��
��
� ������
� ����
� ���	� �����GHz 14,5-14,25  

 ����� ���	!
� "# $�%�&
 �������#14 )7)  MHz 28  

) �����1(  

 G�<��� ����<�� - #��$��GHz 14,5-14,25 f
"�3 ����!�� ����	 ���!
�$�   ����`� (�)�^��?��D��� ���	� ���$R.  

 �
B�2=�3 J��!�"�� !!"$�� ������ !
�� 1��"$��MHz 28��� ��� X$�$�� :  
  G�<��� ������ EF���:  MHz  fn  =  fr + 2 536 + 28 n  
  G�<��� J����� EF���:  MHz  fn’  =  fr + 2 672 + 28 n  

\�A:  
  fr  :��5"� !!"�  
  1 = n 
� 2 
� 3 
� 4.  

 #,>�� - S���
5 \�A ��!!"$�� 1��"� MHz 11 701 = fr.  

 �����)������(   ������)�����(
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 UB #�� ��� ������� ��2��"� l�B (�F�� 4$�
MHz 7
 MHz 14 K�"c UB 4���� ��8 ��)�)I� ������� MHz 28.  

 ���	�5  

�#"� ����	�$ 
%&�� �#'�( ���	���� 		���� 
���� 
����  
 ������ !GHz 14 �)$*� +*,��- MHz 20  
) +�#7�� +�..0��� 8�9MHz(  

0746-05  
  

  

 �����7  

 ���	
� � ��
��
� ������
� ����
� ���	� �����GHz 31,3−31,0  

) �����2(  

� K2�� K���� +

3 (���$)*� %��,�"�I� �
L$=� ���@��� - G�<��� �;� 
����}�� #6�
$�� U� ���� +

3
 ��!!"$� .
 ��8 ����	 (���$)� U,�
MHz 25 
� MHz 50.  

 ��8 �����3 J��!�"�� !!"$�� ����	 1��"� #�&� U,�
MHz 25��� ��� :  

fn  =  fr  +  25 n 

\�A:  
  1 = n 
� 2 
� 3 ...  
�12  
  fr) ��5"� !!"� (= MHz 30 987,5  

8 ������� #3��=� 1��"$��
 ��MHz 50��� ��� :  
fn  =  fr  +  50 n 

\�A:  
  1 = n 
� 2 
� 3 
� 4 
� 5 
� 6  
  fr) ��5"� !!"� (= MHz 30 075  

 U� J� - T��w� - #�W>$��
��2��"� %J��!�"�� !!"$�� ����	 � +�,#F��� N��^�
 N��;�� ����	 T3 MHz 150.  

  �����)������(  ������)�����( 
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 �����8  

 ��&�������	��	
� � ������
� ����
�  ��GHz 31,3-31,0  

) (

z�2(  

 - y�}BI� +�
�2�� e�3 - �����$)@ G�<��� �;� �� Fn6�@�F�@�
 
�Z�� ����!^ ¡
�
I� "��=� )CEPT( |���
 
^� ��H?I ����$�� ������� ��2��"$� (�)�=�U�D�� 4���$3 �
!D (TDD) !!"$�� 4���$3 ��
!/@� 
 (FDD) �$3�&�� ��
�� - 

�� ��,�)*FWS. 

1.   ������ � ��	�
�� ��
�
GHz 31,3-31,0�� �����  ����������� ���
�� !"#�  

n��$�$� G�<��� ��8 ������� #F�� ��D�"=� ��!!"$�� XMHz 3,5
 MHz 7 
MHz 14 
MHz 28¢�$�� �L��� l�B :  

 U,��  fr  �� �� 9�
	
 JD�"=� !!"$MHz 31 000%  

  fn  JD�"=� !!"$�� �� G�<��� - J��!�� !!"� ����� GHz 31,3-31,0%  

 ��D�"=� ��!!"$�� UB ;Y��A "£2�n�� �!�"������$�� �	*���3 ������:  

 � (   9�
	 ����	 #F�3 ��H?r�MHz 28:  

  fn = fr + 3 + 28 n                   MHz  

\�A:  

  1 = n 
� 2 
� 3 ...  
�9  

N(   9�
	 ����	 #F�3 ��H?r�MHz 14:  

  fn = fr + 10 + 14 n                MHz  

\�A:  

  1 = n 
� 2 
� 3 ...  
�18  

�(   9�
	 ����	 #F�3 ��H?r�MHz 7:  

  fn = fr + 13,5 + 7 n                MHz  

\�A:  

  1 = n 
� 2 
� 3 ...  
�36  

 !(    9�
	 ����	 #F�3 ��H?r�MHz 3,5:  

  fn = fr + 15,25 + 3,5 n           MHz  

\�A:  

  1 = n 
� 2 
� 3 ...  
�72.  
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 (

z�4  

XS 

(MHz) 

n 
f1 

(MHz)  
fn 

(MHz) 

Z1S 

(MHz)

Z2S 

(MHz) 

28  1%....9 31 031 31 255 31 45 

14  1%....18 31 024 31 262 24 38 

7 1%....36 31 020,5 31 265,5 20,5 34,5 

3,5 1%....72 31 018,7531 267,25 18,75 32,75 

2.  �� ��
�
  ������ � ��	�
GHz 31,3-31,0 ����� !�"#$%�##���� ���
�� FDD   

 G�<��� ��8 ������� #F�� ��D�"=� ��!!"$�� X$�$�n�MHz 3,5 
 MHz 7  
MHz 14 
MHz 28¢�$�� �L��� l�B :  

U,��  fr   �� 9�
	
 JD�"=� !!"$��MHz 31150%  

  fn   JD�"=� !!"$�� ��(MHz)- J��!�� !!"� �����  EF��� ������%G�<��� U�   

  
n
f ′   JD�"=� !!"$�� ��(MHz) EF��� - J��!�� !!"� ����� J�����%G�<��� U�   

 �5
!D=� �
B�2=�= MHz 140  

��D�"=� ��0��� = MHz 28  

 ��!!"� UB ;Y��A Z��(MHz)����$�� �	*���3 ��!"��� ������� :  

 � (  ��8 ������ #F���� G�<� MHz 28:  

   EF���������G�<��� U� :  fn = fr – 147 + 28 n  

   EF���J�����G�<��� U� :  = fr – 7 + 28 n 
n
f ′  

\�A:  

  1 = n 
�  2 ... 
�4  

N(  ��8 ���	 #F��G�<?  MHz 14:  

   EF���������G�<��� U� :  fn = fr – 140 + 14 n  

   EF���J�����G�<��� U� :  = fr + 0 + 14 n 
n
f ′  

\�A:  

  1 = n 
�  2 ... 
�8  

�(  ��8 ���	 #F��G�<?  MHz 7:   

   EF���������G�<��� U� :   fn = fr – 136,5 + 7 n 

   EF���J�����G�<��� U� :  = fr + 3,5 + 7 n 
n
f ′  

\�A:  

  1 = n 
� 2  ... 
�16  
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! (  ��8 ���	 #F�� G�<? MHz 3,5:  

   EF���������G�<��� U� :  fn = fr – 134,75 + 3,5 n  

   EF���J����� U� G�<���:  = fr + 5,25 + 3,5 n 
n
f ′  

\�A:  

  1 = n 
� 2  ... 
�32.  

 (

z�5  

XS 

(MHz)n 
f1 

(MHz) 

fn 

(MHz) (MHz)

1f ′
 

(MHz)
n
f ′

 
ZS1 

(MHz) 

ZS2 

(MHz) 

YS 

(MHz) 

DS 

(MHz) 

28 4…1 31 031 31 115 31 171 31 255 31 45 56 140 

14 8…1 31 024 31 122 31 164 31 262 24 38 42 140 

7 16…131 020.5 31 125,5 31 160,5 31 265,5 20,5 34,5 35 140 

3,5 32…131 018,75 31 127,25 31 158,7531 267,2518,75 32,75 31,5 140 

  

  

����������  
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